BRASS COMPANY

TECHNICAL SERVICE PARTS

A AKRON e

(9) 38 BALLS

ASSEMBLY NOTES

USE PERMABQND LHO050 OR
LOCTITE 592 PIPESEALANT
GREASE O-RING AT ASSEMBLY
WITH PARKER O-LUBE

A\ USE PERMABOND LMT13 ON
LOCTITE 222 AT ASSEMBLY

/N USEPRIMER T
/A DIMPLE AT ASSEMBLY

Y&\ APPLY LOCTITE 277 OR PERMABOND
HH120 ON THREADS AT ASSEMBLY
/N\SEAL SET SCREW WITH GASKET
QMPOUND PERMATEX #2 OR #6

CRIMP HOOK AROUND EYELETS OF
BEADED CHAIN AND DUST COVER

122952



AKRON

BRASS COMPANY

STYLE 3031
JRC SST

TECHNICAL SERVICE PARTS LIST

ITEM NO. DESCRIPTION PART NUMBER QUANTITY
1 CHAMBER DIVERGER 316L SS COMP 707962 1
2 BODY MCH COMP 316L SS 4473 704503 1
3 TUBE BLENDING 316L SS MCH COMP 4473 773447 1
4 CONNECTOR CAM LOCK 316L SS COMP 707960 1
5 ADPT THD'D FEM 2.5"BBX2.5BIF PY 03260013 1
6 O-RING 15/8”X 17/16"2-127 N-674-7 BU 757048 1
7 ADPT 2.5 BBG X BIM 316L SS MCH COMP 702189 1
8 O-RING 2-148 BUNA-N 70 DURO 757332 1
9 BALL ST STL1/4”OD (+/- .001 TOLERANCE) 703051 38
10 O-RING PARKER N674-70 2-125 BUNA-N 757281 1
n SCREW ALLEN HD SET CUP 10-24 X 1/4” SS 765025 1
12 O-RING 17/8"X 111/16"2-131 757058 1
13 BALL ST STL 3/16"TYPE 302 GRADE 200 USA 704018 52
14 O-RING 31/8"X 2 7/8"2-233 BUNA N70 757065 1
15 SCREW ALLEN HD SET CUP 10-24 X 1/4” SS 765025 1
16 SCREW SET CUP PT 3/8-16X1/2 ST STL 765187 1
39 CONNECTOR W/COVER 1.5FEM NYLON 707494 1

40 CHAIN BEADED 12”LG PLUS END COUPLINGS 706225 1
41 SCREW PAN HD MCH ST STL10-24 X 1/4” 765104 1
42 CLIP S HOOK 1.5”304 STAINLESS STEEL 034 707070 1

AKRON

BRASS COMPANY

Tested-.proyen.. Tl'llsmd_'

ISO 9001 REGISTERED COMPANY

PHONE: 330.264.5678 or 800.228.1161 | FAX: 330.264.2944 or 800.531.7335 | akronbrass.com

REVISED: 4/12

WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of five (5) years after purchase against defects in materials or workmanship. Akron Brass will repair or replace product
which fails to satisfy this warranty. Repair or replacement shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service.

We will not be responsible for: wear and tear; any improper

or storage;

of the owner or user; repair or modification after delivery; damage; failure to follow

our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT,
AND WE DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or

indirect damages (including, but not limited to, any loss of profits) from any cause whatsoever. No person has authority to change this warranty.

© Akron Brass Company. 2011 All rights reserved. No portion of this can be reproduced without the express written consent of Akron Brass Company.



